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32 The shop was now full of doughnuts. Homer piled the
doughnuts on the counter.

33 Uncle Bob! Please come back right away.

34 Something’s wrong with the doughnut machine.

35 Oh, no! How can we sell all these doughnuts?

36 Just then the lady came back to the shop.

37 | lost my diamond ring. | think | left it on the counter.

38 Oh, | remember. You took it off before you started to mix the
batter.

39 Everyone looked for the diamond ring, but they couldn’t find it.

40 1 can’t find it.

41 I'll give a reward of one hundred dollars to the person who
finds that ring!

42 | know! The ring fell into the batter.

43 I'm sure it’s inside one of these doughnuts!

4Lb You're right!

45 Oh, no! Now we have to break up all of these doughnuts to
find the ring.

46 Don’t worry, Uncle. | have an idea.

477 Homer took a piece of paper and made a sign.

48 He then put it in the shop’s window.

49 Fresh Doughnuts / 2 for 5 cents

50 $100 prize for finding a ring inside a doughnut

51 P.S. You have to give the ring back.

52 Then many people began to buy the doughnuts.

53 All of a sudden, a man shouted with excitement.

54 | found it! | found the ring!

55 See, my idea worked!

56 Here’s one hundred dollars!

57 In the end, everybody was happy.

58 The man went home with one hundred dollars.

59 The lady got her diamond ring back, and Uncle Bob sold lots
of doughnuts.

60 And, what about Homer? He was happy that his idea worked

so well!

A 01 Thank you for helping me.
02 All of a sudden, a man shouted with excitement.
03 The doughnuts kept coming out of the machine.
04 Rings of batter started dropping[to dropl into the hot oil.
05 Now we have to break up all of these doughnuts tolin
order to / so as to] find the ring.
B 01 It's easy to do.
02 The doughnuts will taste great.
03 In the end, everybody was happy.
04 You took it off before you started to mix the batter.
05 I'll give a reward of one hundred dollars to the person who

finds that ring!
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